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Passage

Next to water i
» tea 1s the most commonly consumed be erage in the world. This 1s

good news because tea offers important health benefits. Its benefits were first
discovered by the Chinese Emperor Shen Nong, who declared that it gave one
vigour of body, contentment of mind and determination of purpose. Today there is
ample proof that tea in its many forms possesses a number of health benefits from
supporting the immune system to reducing the risk of cancer, to helping prevent
tooth decay.

What makes tea such a healthy drink? The star comfounds are called catechins.
Those are antioxidants that help prevent cell dangige by hagmful molecules called
free radicals.

Tea can be balck, green and red and is defived from a warm-weather evergreen tree
known as Camelia Sinensis. The more proeessing tea leaves undergo, the darker
they become. Green tea is the le@st processed tea. It is simply steamed quickly and

offers the maximum healing’powers because it isn't fermented. It also helps prevent

tooth decay and aids weight loss.

The most commorily consuméd beverage in the world is --------—---- .
(a) Coffee /(b)/Tea
(c) Greenteza (d) Cola

What did the Chinese Emperor discover

(a) Typesoftea (by” Benefits of tea

(¢) Compounds oftea (d) Antioxidants in tea

g 0§
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3. Tea turns out to be a healthy drink due to the presence of

(a) Camelia Sinensis (b) Compounds
(¢  Catechins (b) Beverage
4. Green tea leaves offer maximum healing powers because It i§ =============.
(a) Fermented jb’{ Not fermented
(c) Processed (d) Not processed
3, The synonym of the word 'Drink’ from the passage I§ s=--------====-- ;
(}}' Beverage (b)a Vigour
(c) Water (d). Tea
6. The antonym of Surrender is:
(a) Resignation (b) Defend
(¢c) Delivery (d) Nobility
7. The antonym of ordinarily is: W
(a) Commonly ( Unusu;lly
(c) Normally (d) Often

8.  To be strong enough or not to bechanged by something :

(a)  Withheld (b) Withstand
(6 xheld (d) Upright
S-09 (SET-A) 4)



Q. The synonym of Minimal is:
(@ Slightest

(¢) Most

10. Ina careful and cautious way- W

(@  Deprived
(¢)  Discreetly

1. In a state of unhappiness:
(@) Depressed

(c) Jubilant

(b) Maximum

(d) Lacking

(b) Disappeared

(d) Dismissed

(b) Downfall

(d) Concealed

12. Nafeesais afraid --——--—- --spiders.
(a) from (b) in
(c) about (d) of
13. Heis certain his horse winning the race.
(a) at (b) of
_(e) from (d) about
14. Have you ever seen Ostrichin
(a) a;the /(b) an; the
(¢) an;a (d) the;a
S-09(SET-A) (5)
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at kind If sentence 0

15.  "De vou know where my phone is 7 1s an example ol wh
(a) Declarative (b) Imperative
(¢) Interrogative () Exclamatory

- TP T
16. Tick the most appropriate indirect form of the sentence I'he teacher said, "The sun

nses in the east.”

A il

(@) The teacher said that the sun rose in the east.
(b)  The teacher said that the sun has risen it the east
(¢) The teacher said that the sun riges in the east.
(d) The teacher said that the sun risen in the ecast.
17. Martha watches cartoon éveryStinday. (Into Negative sentence)
(a) Martha dogs not watches cartoon every Sunday.
(b) Martha don'twatch cartoon every Sunday.
(c) Martha doesn't watch cartoon every Sunday.

(d) Martha don't watch cartoon on Sunday.

18  He looks upset, I think he took criticism heart.
(a) to (b) about
(¢) in (d) of

S-09 (SET-A) (6)



19. The teacher set some homework theend of the lesson.
B e |

(a) about () in

(d) at

20. He was a villain to do such a deed. (Into Interrogative sentence)

(@) Ishenota villain to do such a deed?
/(b) was he not a villain to do such a deed?
(¢) washenot a villain to have done such a deed?
(d) ishe a villain to do such a deed?
21. Wehave already done the exercise, (Into passive voice)
(a) the exercise had already been done by us.
(b) already the exercise is done by us.
(c) the exercise has already been done by us.

(d) the exercise is already done by us.

22. Yesterday, you in class on time.
(a) Isn't (b) wasn't
(c) weren't (d) was not

RGO
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My parents cook dinner. (Into Negative sentence
(@) My parents don't cook dinner

(b) My parents doesn't cook dinner.

(¢) My parents don't cooks dinner. X

(d) My parents does cook dinner.*

This is best Mexican restaurant in the city.
(@ a (b) an
() the (d)  mest

Choose the correct meaning of Detefiorate:
(a) grow worse

() flourish

(c) prosper

(d) desperate

'
A s 1h

Which of the following is Hardy-Ramanujannumber;

o olia (b) 1725

€ 1727 w/nzs»

S-09(SET-A) (®)
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Frfofe & & # st wen 27

(a) 1724 (b) 1725
R d) 1729
BTl <t A
1725 (b) 1724 (a)
1729 (d) 1727 ()

27. The expansionof ;3 is:

([@sooxe. . (b) a+a+ta
&) "3 %x8%3 (d axaxa
o I B
(@) 3xa (b) atat+a
(¢) 3x8x%3 (d) axaxa
?c‘..lg/)’jlff
atata (b) Ixag (@)
axaxa (d) 3x3x3 (¢

P.T.O.
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<ihle "one digit" of the square root of 6257
What could be the possible "one digit I

@) 02 (b) 05
) 235 (d) 50
(@) 02 (b) 05
() 25 (d) 50

¢ (Fol i L1E (Root square) 77625
05 (b) 02 (@

50 (d) 25 (¢)

A map is given with a scale of 2 cm = 1000 km. What is the actua distance between

the two places in kmj if the distance in the map is 2.5 cm?
(a) 1250 km (b) 1500 km
(¢) 2500 km (d) 2000 km

@mﬁamloooﬁaﬁzﬁﬁzwﬁmw%lwmﬁawﬁﬁiﬁ

a?r?;&zsﬁz‘ra?mﬁaa%mwﬁ%{ﬁ—— ~~~~~~ forft &)
(@ 1250 (b) 1500
(c) 2500 (d) 2000

S — S——



( ":" Al / ) x F .
YUm=oend Uskne il poX LS (AL L2 em = 1000 km
. - . ol ~, — »

1500 km (b) 1250 km (a)

2000 km  (d) 2500 km  (¢)

30. Outof 32 students, § are absent. What percent of thestudents are present?

(@) 75% (b)-64%

(c) 60% (d) 70%
Fel 7 32 BET H & 8 Uy £ | fray shiye o ouRew §
@ 75% (b) 64%

(C) 60% (d) 70%
L Us o S g G Ba T e 32
64% (b) 75% (a)

70% (d) 60% (c)
P.T.O.
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31.  Which of the following has formula "base height" :

(a) Areaofparallelogram
(b)  Area of quadrilateral bt
(¢) Areaoftriangle
(d)  Area of trapezium
Frfoaa § Reaa wrlan “omR X HaR 87
(a) TR IS & dSwT
(b) == FT dFTwA
(c) Py &1 &%

(d) SV TgHe B ATH
‘e (base x height)él{:'xu.'.’ u.»vlsb’J'}__ LS dauee
KL uEe (@
I (D)
kel (o)

/8 Trapezium  (d)

§-09 (SET-A) (12)
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33.

: 1
Reciprocal of T | where X #0 is

(@ 1 (b) x

© 0
(c) (d) None of these

1

@ 1 i
(¢ o .
x %0 Gl ded
x (b) 1
(@ S
Solve: :
Zx+1=1 v/ i ;7/;
(@ 1 i ) A(/B
© 2 @ s N L
& i1 % >
%x+l=% l/‘;
A (b) 2
e (d 8

S-09(SET-A) i
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8 (d)

34, W f 0 convex polygon?
y 1S p
ing polygons
llow
he fo
ich of t
hic
34.

(b)
) D
| § 7 (d)
(c) %?
q I TG T
i
fr=tarag

(b)

(d)
10
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S Lo P U 26w &) o

35. The opposite angles of a parallelogram are :

(a) unequal (b) equal
(¢) complementary (d) ‘supplementary
T T & Al @or fe &
(@) SrEHH (b) &=
€ T= (d) T =
(s AL Wi $ s
2z (b) 24t (a)

J @ S @ ro0.
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36. Cards are marked with numbers 1 to 25 are placed in the box and Toughly,

One card is drawn at random from the box. What is the probablllty of gettingan

' |

@ 1 (b) 0
12 13
25 (d) 25

TH ¥ 25 T W@ A B U qaw § W@ T E AN B # % fHawn my g
T § F ANAT T ¥ U FE Frper T HE 9 G0 GEAT B bl ATawar gy

B?

(@ 1 (b) 0
12 13

© 35 (d 25

Lo Te LU BSOS 53K 2 EF25e 1 4
S G ol Lo (I v 1306

0 (b I @
L 12
g5 () 55 (9

37.  What will be the value of "y in pythagorean triplet (6,8 %)%
@@ 5 : (b) 7

(¢) 10 (d) 11

S-09 (SET-A) (16)
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o b 7

ol (d) 11

| SSTIAMAMBUAISLAMIA LRI YR
7 (b) 2
s D 10 (o)

38.  The cube of an odd number is always

/(a’)/ odd number

(b)  evennumber

(c)  prime number (d) none of these
fqws | #1 e sqen ———— Bl
(a) fum g@ (b) == e
(c) 3T "= (d) = & ®rE 7@
Al o) ety 2l 6w b
Az (b) w4l (a)
Sole e (d) A6 .
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39.  Which of the foilowing is true for any natural number n

@ B>’ (b) n=n'

. ) k) 2
() R '.(d) may be ;} > p

Ffofiad & @ U ma@iéas & p & e | B
(@ s p? b)) n?*=n

(C) n'>n’ (d) THAT: >

fe oy Y, / Jzﬁup’uj LA J._’ 50040

n=n* (b) n’>n’  (a)
n’ > nz‘Ll:Cx (d) n>n (o)

40.  On selling a fan for Rs. 810, Rahul gains 8% . For how much did he purchase it?
(a) Rs.780 (b) Rs.750
(c) Rs.760 (d) None of these

U AT 810 Fo H 94U W AT H 8% H AW BT | THA T Ay § @l

%, rsciion - aceail

(a) 780 vUT (b) 750 v4&
(c) 760 ¥4d (d) =78 & B T

S-09 (SET-A) (18)



41.

Wrele K sl G BY%d M s L JSads Jk, L6 21/810
Rs. 750 (b) Rs. 780  (a)

S L (d) Rs. 760  (c)

The difference between compound interest and simple interest on a sum of Rs.

15000 for 2 years is Rs. 96. What is the rate of interest percent per annum?

B
LBt
R A
@ 10% o Qy\\%%f /; (b) 12%
/‘}’ ¥Y\0°
S
©) 6% '9/; @. 8%

15000 &9 aﬁww2w%aﬁ%mqﬁmmﬂaﬁt9§mﬁ%n

o ¥~

w-?'o = a®
mﬁmmamuﬁmw%?u V0 o\‘\ S o &
< v AU \\0 \j‘l\;} f\L’\ Sy
& 13;2@* st N Y\\\,r» LA
/'

\
(a 10% ‘} (b).bs 12% /\° \v‘,r‘@\ & X S i
M * A
bt (\/\'\/ Q \h o/
(¢) 6% ; 8% 3 Syp ‘y'q‘ t"lw - {’
S
?Jfl/ U7 /~ UL/J)/:’:.L.:/96U/U V/)L;n)bwbrur//f JL:/]SOOOC’_LJVZ ;‘,\'
)
12% (b) 10% (a)
8% (d) 6%  (9P.T.O.
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42.  Identify the terms in the expression x + y +1 which are not constant?

@ =nl (b) %¥
e x,1 (d) 1
EIE L1 x+y+1ﬁ3ﬁ3ﬁ“{=ﬁﬁ%,$ﬁﬁmﬂﬁl
@). .l (b) x,»

(c) x:1 d y,1

SSFIAMIAMILLA ISLAMIA - ESR"G=aBYe. CMSENSTEPERaas

XY (b) %%l S
S C) x
43. What must be added to 3x + y to get 2x +3y? o A(A** f'lﬂ*z‘g,.h,
@) Sx+4y ®)F —x+2y %'Qﬂ*ig
S
(c) x-2y d x+2y (:(
3x+y # &1 AE % 2x+3y 9IS BI?
B
(a) Sx+4y (b) —x+2y
(&) - x=2p (d x+2y

S-09(SET-A) 0)
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45.

The equation for the statement : One forth of a number minus 4 gves 4.

4 A
4x -4 e Y 58 :
(a) x (b) = 4=4 A 4
] 2 T
T @ *-4=3
mwﬂw:mm%@aﬁaﬁﬁ4WW4m%u
4x—4 2o 8
@ 4 OB
1
i 1
L G R
lc.-«bl/iﬁuy.
-4‘¢Q).£>‘3L3);K1.lgu"{t
W i
;—4—4 (b) 4x -4 (a)
2 1
#d=7 (d) A=)

The vertical cut of a brick will show the cross-section is:

/,(z)/Rectangle ~ (b) Pentagon

(c) Triangle (d) None P.T.O.

S-09 (SET-A) (21)



aft Rt €2 ) e e S A A de fear S

(a) amma (b) TERIOT
@ () g T
T <
Pentagon (b) L)'}:/ (a)
S (@ el @
46. The number of rectangular faces of a trianglular prism 1s
)1 (b)), 4
U PR fe § oTHamR @ we &
&, ¢ (b) 4
Uy g L gt
4 (b) o
3 (d) 2
S-09 (SET-A) @)



47.  Two dice are placed side by side with

2+4  what is the total on the face opposite

to the given numbers?
SSF JAMIA MILLIA ISLAMIA

(a) 8 (b) 7
(e 11 /(d) ¢
A T _qE-EY

%ﬁwﬁmwzaﬁviwmmwww&%é
et AT S 9 R G st Sy s i g Y

L (3 /%
“‘\ /’. L) 3
(a) 8 (b) 7 ,o.f’..'l : ¢C "_S f»v
~.4/ b ”f‘/;{-' C:;‘ FQ
() 11 d) 6 S o /%
¥ ¢ R
\ﬁ véVQ’;/U’fJ'Véc_:L 2+4. 155\
‘\'\ ™ A =
- - 0 il A‘l\
e : “a S L
o 74 ZQ (b) N N "x84 (a)
NSRON ¢ SR 5 2N
( ~ -()(/\ “\t\ ~ C :(\ Pﬁ; ‘-'
e 6 (d) hd |

48. The circumference of two circles arein the ratio 2 : 3. The ratio of their areas is:

~ : o™
33 URLY S L1 b , ‘{% A0 .:k
(a) - 03 . ’)&‘K ,( & 4:9 o ry .\% /?\
: A ol o™ V
&) P4 AN (d) None of these £ o

2t gt @1 et &1 a2 0 3 B ) I AAGe 1 S T e
(@ 2:3 (b) 4:9 lLi\Q'y‘\/ *1»'%}%9\

f¢) 934 (d) 37 7 FE @
Ry
S-09 (SET-A) (23) < ’.-,Q// *‘%7; i



S‘Jng’c,/‘Ju,?,Lur_%:u:c/‘Jz . 3 e o s F s

4:9 (b) a3 - vka)
St (@) g

49.  The breadth of a room is twice its height and is half of its length. The volume of

.:“ [ ['\j
roomis 512 dm3. Its dimensions are: i Lo /-7
N %y ) O
5 2
i ha D =
A Y s /
(@) 16 dm, 8 dm, 4 dm S ~ </
3 S~ Vs Wy L2V
N 2 1B Y
o & J v )/ I '{
~< oA F ?’
(b) 12dm, 8 dm, 2 dm o o >~
=T
&

(c) 8dm,4dm,2dm

(d 10dm, 15 dm, 20 dm

U HHL T AE S FAE A g SfR g F o By v smaea 510
B W1 B | gEer @eTE, e o derd s Al

(a) 16dm, 8 dm, 4 dm
(b) 12dm, 8 dm, 2 dm
(¢c) 8dm,4dm,2dm

(d) 10dm, 15 dm, 20 dm

S-09 (SET-A) (24)
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L J1-¢-512 dm (?b/g./.g'-‘almTb/d[,)d/u'l/sl‘aUC:LJVJJ’L}'/"ZJ’—/"{’

-l
\ " |

16 dm, 8dm.4dm (a)
12dm, 8 dm,2dm (b)

8dm,4dm,2dm (c¢)

10 dm, 15 dm, 20 dm (d)

50. In standard form 52,00,00,000is equal to

qQ 1
B 52x107 ¢ w0 A1 52%10°
(©)  52x10® (d) 52 x100,00,000

e 9 F 52,00,00,000 TET v

(@) 52x10 (b) 52x10°
©  52x10° (d) 52 x100,00,000
{JF £1452,00,00,000 2SS e
52x10° (b) 52x10"  (a)
52 x100,00,000 (d) 5959108 * i)

P.T.O.
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. |
The value of (() b B ') 1S

|
(a) b () S W /b \/

|
() 24 (d) 24
< f.;,;"d/(() —SI)I
O [ ) *® R 2
N {‘\ ‘% %J
R |
O/s sk 2 (b) T3 A
.“ !; - (\I
._' ‘\ l
24 (d) 52 (©

52. Ina hostel of 50 girls, there are food provisions for 40 days. If 30 more girls join the

hostel, how long will these provisions last?

(a) 26days (b) 20days
(c) 25days (d) None of these
=

U BHEEE # 50 BETE & fo 40 R @ e @ wdy B man ser s wE,
wrETar ® S o Sl ¥ q@ e e Rl qw T qore

(a) 26 & (b) 20 fesr
(c) 25f (d) = & e

S-09 (SET-A) (26)




:{(tbi"ia,b’LU"?JLgTui‘d"wgﬂ,gru:"ﬂg,rw}iﬁ_u’Lu,‘/:)k,u:J’nLu[?SU

95,

ehUd (b) 126

Uﬁﬁ[agﬂU' (d) 125

Factors of xy — pg +qy — px is:

« Y mY
; / 0 A
G \ ! Y

i rs

@ (P-y)x+q)

@\ PR YY)
R f (W a
B (r-pate) o % A A\ Wt
WL O\ B
©  (r+p)x+a) m \ ' ) i
(d) None of these L%

Xy = pq +4qy — px & AT _(Factors) :
@ (P-y)x+q)
(b) (y-p)x+q)
(c) (y+p)(x+4q)

(d) = & B3 T

S-09 (SET-A) (27)
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e XY= Pq9+49y—px

I ) o

(v-pAx+q) (b)
(y+p)x+q) (c)

J’JJ/C—J-'U' (d)

34.  The point (—4,-3) means:
@ x=-4,y=-3
b) x=-3 y=-4
(c) xw=4, y=3
(d) None of these
g (—4,-3) @ pi®-
@ x=—4,y=-3

(b) x=-3, y=—4

Ol b

(d) T & HF &

S-09 (SET-A) (28)



55.  If 4B x 6= BBB then the value of A and B is:
(a) A=17, B=4
(b) A=0, B=1
e ed=1 B=0
(d A4=9, B=4d
MR ABx6=BBB , @4 4 3 B & A &
(@) A=7, B=4
(b) A4=0, B=1
(0 A=1, B=0

e 0 B P.T.O.
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(o3 S B AT ABx6=BBB /]

A=7, B=4 (a)

| SSTIAERTIR SLNIA

A=1, B=0 (c)

(b)

56. Out of these, which is able to control fires?

(a)  NH, (b) \.CO,
). H, d £
TTH | S T W P 9 T o
(@) NH, (). €O,
() H, d K
LS T2e f
COZ (b) NH; (a)
%1 H (0

S-09(SET-A) (30)



57. Force changes the:
(a)  Motion of the body
(b') Speed of body
(¢c)  Shape of body

(d) All of these

(@) ==
(b) =g @ =T
(c) o=g = Impha
(d) ==
r‘_éf A i d
NI C) 782"
& @ Kz ©
58. Which organism causes AIDS?
(a) A protozoa (b) A bacteria
(c) Avirus (d) Analgae
REQ.

S-09 (SET-A) (31)



L I CIVET I A I e B

(@) wEsen (e

SSF JAMIA MILLIA ISLAMIA
(b) Qudifear (st

(¢) oo
(d)

(.“L_Ct?a." b/vré’:« ?“:"J].L/Q'/

L5 (b) sy (a)
| >
g1 (d) Jsts (o)

59. Name the scientist whodiscovered fermentation in theyear 1857.
(a) Louis Pasture (b) AlexanderFleming
(c) Edward Jenner (d) Robert Hook
S A # A aarey G ad 1857 § foa & @ a5y et
(a) TEH MR (b) ueERiEr wfET

(c) usad I (d) wa? &%

$-09 (SET-A) (32)



g & . i A ) - ;
-dedad 218570 L g i LA LU

Lk A () /f‘L"/,’ (a)
sl (d) =isnkl ()
60 Which was the tirst Indian Satellite : W
{a)  Aryabhatta (b) INSAT
(¢)" EDUSAT (d) IRS

TEAT WA SUUE HIFET 477

(a) 3 W () INSAT
(c) EDUSAT (dj. IRS
PGl B deasribe
INSAT (b) <o i (a)
IRS (d) EDUSAT  (c)

61. The gap between the orbit of Mars and Jupiter is called as:
(a) Comets Ab) Asteroids

(c) Meteor (d) Meteorite PTO.

S-09(SET-A) (33)



e S geerty A TR B 4 F gl A FE S

(a) emPq (b) T

e (d) SenIus

W et I ESCSEL ULty
é‘—j“‘/ (b) 2/ C/ (a)

62. From bulged part of the eye ball is called:

Aa)  Pupil (b) . Iris
(c) Retina (d) Cornea
(@) gadt (b) R\
(c) gt vea (d) Ewew

gL ne fiz L (eyebal)oss

2 (b) UL..;. (2)
= @ e (O
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63.

crops quickly and efficient]y? W
{ " |

(a) Combine (b) Winnowing machine

(c) Sickle (d) Seed drill

“r . -
hich of the follow ing should be used by a farmer with a large farm to harvest his

I BT T THEE B A BEA F AT AR I § FeT 3 faw Sreranad §

F T wEm Fvr @tz

(a) =F=EA (b) =T =gt
(c) =3 (d) &= fzm

e Lt/ e S 5oid L2 6 B )}?AtdAJJ‘;@ 1SS

Gl @) bl ()
J/ﬁ( (d) C'S by ()

64. Large amptitude of sound vibration will produce

(a) Loud sound (b) shreak

(¢c) Slow sound (d) Meek sound

FHug s g s 2 59— e BEn B

(a) I (b) =T
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o 3,“520:!]!, T8rasl il b9 Bl

Mg (b) e
. T._,c (d) J-’)‘L:’[T (C)
st

65.  Which of the following is a thermoplastic? W

(a) Melamine (b) Bakelite

(c) Polythene (d) Silicone
frfafas & & @ o aafaiies o?
(@) FamEET (b) ez
(c) e (d) faferr
e .ﬁl}:}"}u{a‘_f:‘jjg/ﬂ
Ak (b) Jik  (a)
I (@ 2805

66.  Which of the following can be beaten into thin sheets?
(a) Zinc (b) Phosphorus

(c)  Sulphur (d) Oxygen
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(b) wrawr
i (d) st

?%Cﬁ%’?«lixﬁuwlg&/%’(ff—kﬂi5~?"’
J# 6 (b) £ 6@

T (d) (Sulphur)G2” (o)

67. Which of the following groups contain only synthetie fibres?
(a) Nylon, Terylone, wool
(b) Cotton, Polycot, Rayon
(c) PVC, Polythene, Bakelite
(d) Acrylic, Silk;Wool
fr=tatiaa 9 9 59 798 7 Faa HaRs wEar 71 B2
T
(b) =um, dEFR, T@H oo
(c) g4t &, didide, SFase

(d) e, 39|, 79
P.T.O.
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N U ,e;,d,w_j/.r,/ l/u/; W J~ DRI

-v 4
W A uft ()
$ ! s bbgds (b
_','»'lt’g"of?:}{."dd’d' (c)
ileene L) (d)

68 Which of the following isnot a traditional irrigation method?
(a) Moat (b) Chain Pump
(¢) LeverSystem (d) Drip System
Frfoiad § § B9 IRIRE [aR TG T8 82
(a e @R (b) == u
(c) w®= (d) f3wa=
fe u’:*".'é Y. Kuﬁ b 81 Lulrufc_.uﬁd’“ Sosxa

FEuF (b) s S

(“:‘;Ji (d) ((L‘/Jx’.)u‘/u (c)
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Beam of light striking the reflecting surface is called:

b incidenre, T

ELIELLES FAE T THIE A T F e Tt =

69

(a) Reflected ray
(¢) Refractedray
(d) Normalray
(a) 9EET Foor
(b) =T oo

(c) Fuafda feror
(d) =mE= &

S-09 (SET-A)
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70.  'Pop' sound produced indicates the presence of which gas®

(@)  Carbon dioxide

(b)  Nitrogen W
(¢)  Hydrogen

(d)  Argon

“qro =i R T @ ouftafy @ s w &

(@) HET SEINRES

(b) =R

(c) wEEcH

(d) o=
oo Al S A iy
T e G
A (b)
Sy (o)
«:fj!' (d)
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71.  Cells which lack nuclear membrane are:

()  Eukaryotic cel| W

(b)  Peokaryoticcel]
(c) Single cells

(d) Multi cells

Ut Qe b S WEGEL Lt o
rj.." J{;.’/).J. (a)

2 Ly /,-,C{. (b)

Ll (o)
G'!f/':{ (d)P.T.O.
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75 Idenfity the substance which is tough, porous and black. It is almost pure form of

carbon,
(a) Crude oil (b) Coke
(c) Coaltar (d) Coal gas

aq et A GEAE Bl A WS, Wi S Fen B | 45w F ATaT 9% w9 2

(a) T dd (b) #F
() @i an (d) e i

e P IS sl f o2 St Sl
I alb) Jee ()

U @ Foae

73. Which is the bad ¢onduetorof electricity?
(a)  Graphite (b) Magnesium

(¢c) Iron (d) Chlorine

P e e ey

(a) IwrEe (b) #Frfifaras
(c) oma (d) ==
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Sl
7 (b) 25)  (a)
¥ (d)

74, Current is th‘ ﬂ(\\\" 0] P S W
' !

(a) Proton (b) Electron

(¢) Neutron

(d) Atom
g T JATE 8-
R (6 wiwr
(€) == (d) ey
e et .‘gjb‘,._.,-/
U2 (b) SO
F1 (D) JiKe (9
75.  Genesarelocatedin
(a) Chromosomes (b) Plastids
(c) Cytoplasm (d) Cell wall
P.T.O.
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M (@) e (0
76. A ball rolling on the ground slows down and finally stops. This is because :
(a) Force
(b)  Less force applied
(c) Friction
(d) None of the above
THI W T edhd! U e ST 8 AT & 3 3q § 5% TG S | THT BT =T B2

(@ o

(d) = ofr =&
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77.

¢ o ¥ ki -
‘e rdU e B K Tl Qo

Burning coal in a closed room wi] produce :

(a) Nitrogen Oxides

(b) Carbon dioxide

(c) Carbon monoxide

(d) Oxygen
92 FHL H HIEAT T & Y2 By
(a) s

(b) wrE srgoNEETES
(c) =pEw AFIFEES
(d) sifefe=
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738.

7 " o .
?J;{l{_.; Pl L‘?.LJ'J:K../M

Which of the fellowing is a liquid at room temperature?
(a) Iron (b). Bromine
(c¢) Iodine (d) Phosphorus
Frfofad & § 9 F9 & A9 W O o7

(a) & (b) =

(c) omaEH (d) wEERE

: - 7,
PR o)A

/
o’ e g o 8
/L/ ’dlﬁg'/{

K\ T ¥

(a)

(b)

(c)

T @

e JL«{ = l/.'wéz_ / uy(c M J; 3042

Lss (b)

J# 6 (d)
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79.

80.

The frictional force exerted by fluids s called

8) s (b) pressure

(c) friction

(d) drag
A B T T AT T Fy L wed ¥
(@) = (b) T
(c) gy (d) oy
_‘¢JM .................... _»,}J}Cd!,gb(jﬁéuéujk
ity (b) ] W
4,/"( (d) 7; (c)
Yeast is used in the production of:
(a) sugar (b) alcohol
(c)  hydrochloricacid (d) Oxygen
e s fres e o v - [ o
(a) =T (b) uwRIEw
(c) -eEsEARE =T (d) st
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S (b)

H’_L)K’/J_ﬂ (c)

T (@

81. Chauri-Chaura incident was associatedwith:
(a) Non-Cooperation Movement
(b) Khilafat Movement
(c)  Quit India Movement

(d) Champaran Satya grah

HH-ET "2 {69 A=l 9 gt 27
(@) SIFEanT S
(b) faawT sT<ras

(c) WRT BISI S

(d) ¥9E 99 1@
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T e @

L 7=l (b)
LA (o)
Lz (D)
82.  Pisciculture deals with :
(a) Crop (b) Grapes
(c) Fish (d) Silk
foet Fear @1 et g @ fhad & 2

(a) wae (b) sz

(c) wwet (d) 7om
?‘LGJLU:U'g}LJKPiSCiCUItUl‘e
J)Fl (b) J‘, (a)
~ (@ LANO

i 10 )
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83.  Which of the following is a famous bird sancutuary?

(a)

(b)

Kaziranga National Park

Jim Carbett National Park

© Girrores: e

(d)

Bharatpur Sanctuary

T H THEET UF ITHE 9ET ST 27

(a) AT TEE TAE

(b) 55 FEz F579 T3

(c) P o<m sa=

(d) wm=Eg s=EReT
S-09 (SET-A)
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History of British India was Written by:-

o temesvin |k e

History of British India & EE T Er

84.
(a) Chales Darwin
(c)  Warren Hastings
(d) Thomas Hardv
(a) = =fds
(b) w7 =
(c) a7 Bfgmm
(d) ams =@t
S-09(SET-A)

®c_wfi+* L A Hisotry of British India

Ustiuse ()
JUZ  (b)
u’a’}d M (c)
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(a)

(b)

(d)

Babur and Ibrahim Lodhi

Ahmad Shah Abdali and Maratha

©  Asarand e [ T

Haidar Ali and British

TN # Eda gs e e @ vy

\a)
(b)
(c)

(d)

S-09 (SET-A)
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The second battle of Panipat wasfought between:

?&fy’ﬂuypzi B LS :»:G&
EIF izl (a)
Blesldiahtel  (b)

w1 (o)

u’zﬁmd‘»f (d)



6. The Revoltof1357 began from -

(a) Meerut (b) Kanpur
() Delhi (d) Lucknow
1&57&%%%%%3&1?

SSF JAMIA MILLIA ISLAMIA
@ 3w T
o d) we=s
sl e st 1857
228 (b) i e
=@ b ©
87. Who introduced the policy of "Paramountry"?
(@) Lord Dalhousie
(b) Lord Hastings
(c) Lord Bentirick
(d) Warren Hastings
Fara (Paramountary) ity fray € B 2
(@) TS SwEET
(b) = FW=H
(c) =2 T=few
r PR
(d) == =™
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Sa3isl (a)

SSF JAMIA MILLIA ISLAMIA

s (b)
Lt ()

L (d)

88, Who is known as Frontier Gandhi?

(0)  AghaKhan

(b)  Sir Sayyad Ahmad Khan

(¢) Mohammad Ali jinnah

(d) Khan Abdul Ghattar Khan

e wiedt faRenl wer S &2

(@) omm @

(b) ¥ YT e @l

(c) wenye ot e

(d) WE =T TRER @
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e b LSS
ul,'l),l' (a)
Wiy (b)

et (o)

u[;/u;"l/f"uk; (d)

89.  The Practice of "Sati" was banned in the year:
(a) 1829 (b) . 1821
(c) 1830 (d) 1827
adt war 9 ufaEyr e ad s mars
(a) 1829 (b) 1821
(c) 1830 (d) 1827
AT BTN
1821 (b) 1829 (a)
1827 (d) 1830, (e)
BaA.CX
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90. Who was the president of Constituent Assembly?

(a) Jawahar Lal Nehru

(c) Dr. Rajendra Prasad
(d) Mahatma Gandhi
HIqE |97 & STeey i 97
(@) SEE @I Ew

(b) o Mo =z

(c) 3To o= THR

(d) =T ey
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91.

vement of P2op
Move ple from one place to another place is called:

(a) Immigration

(b) Migration

(¢) Growth Rate )

None of these

@W%memaamm%_

(a) SYaEs i
6. () =
" sar s suwn DRSO,
P ® FH (@)
SRS () G
92. Only —===mmmmeeee- of fresh water is available and fit for human use:
(@) 33% (b) 2%
©) 97% @ 1%
S 1 NIRRT T T JE YA % o Suwer @
a) 33% (b) 2%
© 97% (d 1%
S-09 (SET-A) (57)
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2% (b)
1% (d)
93. Petroleum is reffered to as "black gold" because:
(a) Itisblack in colour
(b) Itisyellowin colour
(c) Itisvaluable
(d) Itisused in making jewellery.

(a) I8 FHA T H &

(b) == g T T B
(c) I 9qmam 2

(d) v SwaiT squer et & e e 24
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e tnb bl K. (a)

-c“_ t')’.'&.f/é:/ (b)
et (@

ce b @Ittty (d)

94, Major Industrial regions are located near:

(a) Deserts (b)

Glaciers
(¢) Mountain (d) Sea Ports
TE e & & Mo R an &
(a) == (b) fwmg
(¢) wdEa (d) =g dewms

IS T AT Nl ST
2 () el @
oW Sone (d) jlﬂ ()

PTO.
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95  Sex Ratio is defined as the number offemale:

(@)  Per Thousand male
(b)  Per Hundred male
(¢) Per lakh male

(d) Percrore male

fermaT & aftaret & gen & ®v § aftwifve foa:

(a) uft &9 ToW
(b) ufy & gew
(c) gy @@ gew

(d) 9fv =s gow

S-09 (SET-A)

:‘ggfguy/?/:”ﬁ)lﬂkfdl}fql‘;ﬁ

YU
v
)/A/UB

3 /J‘;/r d

(60)

(a)

(b)

(d)

€))



Secularism is referred tq.

06.
T 0T IAMIAMILIA ISLAMIA
R Religion from state
fc) Mixing of Religion and state
(d) Religious state
(a) TEGOAT F ARHE
(b) =g q g # JIFHAT
(c) =T 3T I &7 fiysoy
(d) =ofiF =g
19:'/:-()/')@
JESLT (a)
J""U‘Jﬁ-’fic—ukl (b)
.;«U-K_/:iul..:.-/.l:/ (¢)
=Sl (d)
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97.  Which fundamental rights can not be suspended even during on emergency:
(a) Freedom of Speech

(b)  Right to freedom of Religion

(c) Right to equality W

(d) Rightto life and Personal liberty

TR A HAET Hifdd e smarashra # off wfa JEt R S e
(a) foum sifafe 2 @

(b) enfde wa=@T @ siftR

(c) HHHaT FH ATHER

(d) i vd =T w@edr @ SfeER
LU Sl ATk Uty
S TSJeAEl ()
JEGLTEEL (b)
Tebls (o)

Fesnstdnle (@
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¢8. Indian National Congress Party was founded in the year

' 887
W e (b) 1885

W T HEE B =T e aw 5 7

(a) 1887 (b) 1885
(c) 1925 (d) 1980
SO LAY S8
1885 (b) 1887 (a)
1980 (d) 1925  (c)

99. Who decides whether a person is guilty or not?

(@) Judge (b) AdvocateDefence

(©) Police (d) Public Prosecuter

YN I SN SNE SESET] 57 JAMIAMILLIA ISLAMIA
(a) =amaefier (b) T T@ T

© v (d) e

PO
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100. The membersof Rajya Sabha are elected by

(a) Lok Sabha (b) Local Bodies

(©) Legislative Assemblies (d) Legi

=g T % FEE H 999 FE FAT 87
(c) forer womd Q (d) faam gies
9 ?i" t‘/ U’r 'r'ard/ L‘!’Zﬁ,@l] X 3.-:'

<M (b) (2
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